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[ 1,000 0 1,000
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< 62,125 62,125 0
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= 6,299,753 6,139,753 160,000
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X 600,000 600,000 0
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01 A& HI 2,208,343 597,840 1,610,503
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2 & 2,208,343,000& 2,208,343 597,840 1,610,503
Xl 597,840 597,840 0
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ZFXMAIE 21,281,699 21,273,965 7,734
= 8,695,431 8,671,012 24,419
=) 1,182,135 1,145,693 36,442
= 11,404,133 11,457,260 AB3,127
Ag2e|d M E3 A 19,743,562 19,735,828 7,734
= 8,695,431 8,671,012 24,419
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s 9,865,996 9,919,123 AB3,127
401 Al HIZ 201 19,647,084 19,639,350 7,734
= 8,695,431 8,671,012 24,419
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01 A& HI 19,597,084 19,589,350 7,734
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238 12,687,742,000& 12,687,742 12,680,008 7,734
= 8,660,431 8,636,012 24,419
=) 1,177,635 1,141,193 36,442
s 2,849,676 2,902,803 A53,127
Hees(He8gmn) 454,481 390,952 63,529
HEHHXE 454,481 390,952 63,529
HEHAH X = 454,481 390,952 63,529
02J1=8&E=2 100,000 95,000 5,000
01 JI=sd&E=2 100,000 95,000 5,000
N2 23 Z & 100,000,000& 100,000 95,000 5,000
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01 22X 3eeE= 224,221 176,923 47,298
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02 Al - EHIEXZSEHEZ 130,260 119,029 11,231
1)2009E S CHHl S4IHZ ALY 11,231,000 11,231 0 11,231




